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SN =NE
ZH: HASS SAXE
CR: 2230 XA (AZSHIISSLRA) (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SXE M 6,259,617 6,321,492 61,875
= 675,314
== 235,048
Al 5,349,255
NASE SAXE 6,259,617 6,321,492 261,875
= 675,314
< 235,048
Al 5,349,255
ARSH NE(ASSHIISSEEIH) 6,259,617 6,321,492 261,875
= 675,314
== 235,048
Al 5,349,255
AZS0 NUXNSHBYEXR(ARSH AHY) 6,178,398 6,064,909 113,489
= 675,314
= 168,829
Al 5,334,255
301 EetE NS 844,143 965,632 A121,489
= 675,314
= 168,829
01 Al 2E AL S(SRDEXMHE) 844,143 965,632 121,489
O=02Y 243 (&) 35,000
= 28,000
= 7,000
OZMAEEIIII K& 262,384
= 209,907
== 52,477
Ol X 320,550
= 256,440
= 64,110
OAdZdaF Xl 205,709
= 164,567
== 41,142
028 dz2s0 si= 500
= 400
= 100
O212s0 Uda(2Y, &g, A=) 20,000
= 16,000
= 4,000
308 XXM SOIA 5,334,255 5,099,277 234,978
07 AX R FE =S 5,334,255 5,099,277 234,978
O2z=0JIa ABIRES 5,334,255
Slz=50 AZA 68,019 79,159 A11,140
=S 66,219
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SA - ZE . BR() - HRAR - BES of v G o HIDE2

Al 1,800

201 er23y| 41,800 40,000 1,800
=S 40,000
Al 1,800

01 AtR2tc|Hl 41,800 40,000 1,800
Oogan 29 40,000
< 40,000
O2dg30 gf=d 1,800

202 04| 24,119 30,830 26,711
& 24,119

01 =LHOHI 24,119 30,830 26,711
Oflzg0 gF=Fa ol 24,119
S 24,119

301 EtE N = 2,100 2,100 0
= 2,100

14 JIEt2 8= 2,100 2,100 0
HASXE oD 24= 2,100
< 2,100

ol & JIEt 13,200 13,200

801 GBI 13,200 13,200

01 Letoldlbl 13,200 13,200
Ooullglbl 13,200




